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What is CRC checker?

SWritethe Optlmdllt\/ principle of routing anronthms.

COMP UTER NETWORKS

: This questlon paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists of 5 Units. Answer any one full question from each unit.
carries 10 marks and may have a, b, ¢ as sub questions.

Write the advantages of layered architecture of network.
Define exponential Back off.

What is piggy backing? How does it useful?
Write the functions of LLC.

Wntc the responsxbllltles of nctwork layer

Wnte dbOUt lunnelmo

What is DNS? Write its properties.
Explain MIME header

- Part-B

Compare TCP/IP and OSI reference model.
Explain about framing.

OR

Lxplain stop and wait protocol.
Gwe & detail note on Hammm0 LOdtﬁ

Explam CbMA/LD plotocol and how does it detcu collmon ?

Discuss about switched and fast Ethernet.
OR

Explain MAC sub layer protocol in detail.
Discuss about spanning tree bridges.

Explam lml\ state routmfY alﬂonthm in detdll

OR
Describe hierarchical routing algorithm in detail.
Write a note on load shedding.
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10.a)
b)

b)

‘Compare TCP and UDP plotocolé et

Explam IPV6 pacl\et format

Wnte the principles of network layer in mtemet.

Explain TCP sliding window protocol.
Givea detall note on HTTP request-response model.
' ; : OR

E\phm F;le tlanspmt plotocol
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